
Special Theory of Relativity

12th Lecture
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(b) If  the source is receding directly from the observer:
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Velocity of  the particle  X  w.r.t lab frame :
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Using relativistic time equation :
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“The twin B can go to the FUTURE, but can not go to the PAST”

What is FUTURE ?

What is PAST ?

“The twin B can go to the FUTURE; but not his own FUTURE and its 

other one’s FUTURE !!!

“The twin B can not go to the PAST”; according to the Relativity (STR) 

time can not negative !!!
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(a) If  the source is directly approaching the observer:
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can be calculated !!!



Thank You !
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